

**APPLICATION OF CONJUGATE BAILEY PAIR AND
CONJUGATE WP-BAILEY PAIR TO ESTABLISH
SUMMATIONS AND q - SERIES IDENTITIES**

Nidhi Sahni, Priyanka Singh* and Mohmmad Shahjade**

Department of Mathematics,
Sharda University, Greater Noida-201308, INDIA

E-mail : nidhi.sahni@sharda.ac.in

*Department of Mathematics
TDPG College, Jaunpur-222002 (UP), INDIA

E-mail : rps2006lari@gmail.com

**Department of Mathematics,
MANUU Poly. 8th Cross, 1st Stage,
3rd Block, Nagarbhavi, Bangalore-72, INDIA

E-mail : mohammadshahjade@gmail.com

(Received: Jun. 10, 2019 Accepted: Dec. 05, 2019 Published: Apr. 30, 2020)

Abstract: In this paper, making use of Bailey pair, conjugate Bailey pair, WP-Bailey pair and conjugate WP-Bailey pair, four theorems have been established which yield certain double series identities as special cases.

Keywords and Phrases: Bailey pair, WP-Bailey pair, conjugate Bailey pair, conjugate WP-Bailey pair, summation formula and identities.

2010 Mathematics Subject Classification: Primary 11A55, 33D15, 33D90; Secondary 11F20, 33F05.

1. Introduction, Notations and Definitions

The widely-investigated transform, which was discovered by Bailey in 1947, is being used ever since then in order to obtain various ordinary hypergeometric series and q -hypergeometric series identities as well as the Rogers-Ramanujan type identities. As an application of Bailey transform, Bailey himself introduced the Bailey pair which has been further generalized as the well-poised (or WP-) Bailey pair by Andrews [2]. Making use of the Bailey pair and WP-Bailey pair, many researchers derived some new transformation formulas and identities between basic hypergeometric series and new single-sum and double-sum identities of the Rogers-Ramanujan-Slater type. Recently, Srivastava *et al.* [9] and [10]) and Singh *et al.* [5] used the Bailey pair, the WP-Bailey pair and the derived WP-Bailey pair in order to establish many useful transformations and q -series identities.

In this paper, we shall adopt following notations and definitions. The q -rising factorial is defined (for $|q| < 1$) by

$$(a; q)_0 = 1 \quad \text{and} \quad (a; q)_n = (1-a)(1-aq) \cdots (1-aq^{n-1}) \quad (n = 1, 2, 3, \dots).$$

We also write

$$(a_1, a_2, \dots, a_r; q)_n = (a_1; q)_n (a_2; q)_n \cdots (a_r; q)_n$$

and

$$(a; q)_\infty = \prod_{r=0}^{\infty} (1 - aq^r).$$

A basic (or q -) hypergeometric series is defined by (see [7, p. 347, Eq. 9.4 (272)]; see also [4] and [6])

$$\begin{aligned} {}_r\Phi_s \left[\begin{matrix} a_1, a_2, \dots, a_r; \\ b_1, b_2, \dots, b_s; \end{matrix} \right. & \left. \begin{matrix} q; z \end{matrix} \right] \\ &= \sum_{n=0}^{\infty} \frac{(a_1, a_2, \dots, a_r; q)_n}{(q, b_1, b_2, \dots, b_s; q)_n} [(-1)^n q^{n(n-1)/2}]^{1+s-r} z^n. \end{aligned}$$

The q -series in above converges for all values of z if $r < 1 + s$ and for $|z| < 1$ if $r = 1 + s$.

We now state the Bailey transform as follows (see, for details, [2]; see also [3]):

The Bailey Transform. *If*

$$\beta_n = \sum_{r=0}^n \alpha_r u_{n-r} v_{n+r} \quad (1.1)$$

and

$$\gamma_n = \sum_{r=0}^{\infty} \delta_{r+n} u_r v_{r+2n}, \quad (1.2)$$

then, under suitable convergence conditions,

$$\sum_{n=0}^{\infty} \alpha_n \gamma_n = \sum_{n=0}^{\infty} \beta_n \delta_n, \quad (1.3)$$

where u_r , v_r , α_r and δ_r are arbitrarily chosen sequences of r alone.

In application of Bailey's transform (1.1) to (1.3) Bailey chose

$$u_r = \frac{1}{(q; q)_r} \quad \text{and} \quad v_r = \frac{1}{(aq; q)_r}.$$

With this choice Bailey transform takes the following new shape:

If

$$\begin{aligned} \beta_n &= \sum_{r=0}^n \frac{\alpha_r}{(q; q)_{n-r} (aq; q)_{n+r}} \\ &= \frac{1}{(a, aq; q)_n} \sum_{r=0}^n \frac{(-1)^n (q^{-n}; q)_r q^{nr+r} \alpha_r}{q^{r(r+1)/2} (aq^{1+n}; q)_r} \end{aligned} \quad (1.4)$$

and

$$\begin{aligned} \gamma_n &= \sum_{r=0}^n \frac{\delta_{r+n}}{(q; q)_r (aq; q)_{r+2n}} \\ &= \frac{1}{(aq; q)_{2n}} \sum_{r=0}^{\infty} \frac{\delta_{r+n}}{(q; q)_r (aq^{1+2n}; q)_r}, \end{aligned} \quad (1.5)$$

then, under suitable convergence conditions,

$$\sum_{n=0}^{\infty} \alpha_n \gamma_n = \sum_{n=0}^{\infty} \beta_n \delta_n, \quad (1.6)$$

where $\{\alpha_n\}_{n=0}^{\infty}$ and $\{\delta_n\}_{n=0}^{\infty}$ are arbitrarily chosen sequences of n alone.

A pair of sequences $\langle \alpha_n, \beta_n \rangle$ satisfying (1.4) is called a Bailey pair. On the other hand, a pair of sequences $\langle \gamma_n, \delta_n \rangle$ satisfying (1.5) is called a conjugate Bailey pair with respect to the parameter a .

Following the above-cited Andrew's work [2], a WP-Bailey pair relative to the parameter a is a pair of sequences $\langle \alpha_n(a, k; q), \beta_n(a, k; q) \rangle$ which are constrained by

$$\begin{aligned} \beta_n(a, k; q) &= \sum_{r=0}^n \frac{\left(\frac{k}{a}; q\right)_{n-r} (k; q)_{n+r}}{(q; q)_{n-r} (aq; q)_{n+r}} \alpha_r(a, k; q) \\ &= \frac{\left(\frac{k}{a}, k; q\right)_n}{(q, aq; q)_n} \sum_{n=0}^n \frac{(kq^n, q^{-n}; q)_r \left(\frac{aq}{k}\right)^r}{\left(\frac{aq^{1-n}}{k}, aq^{1+n}; q\right)_r} \alpha_r(a, k; q). \end{aligned} \quad (1.7)$$

Indeed, when $k \rightarrow 0$, a WP-Bailey pair reduces to the classical Bailey pair given in (1.4). Bailey's definition of a conjugate Bailey pair can now be extended to define a conjugate WP-Bailey pair relative to the parameter a to be a pair of sequences $\langle \gamma_n(a, k; q), \delta_n(a, k; q) \rangle$ such that

$$\begin{aligned} \gamma_n(a, k; q) &= \sum_{r=0}^{\infty} \frac{\left(\frac{k}{a}; q\right)_r (k; q)_{r+2n}}{(q; q)_r (aq; q)_{r+2n}} \delta_{r+n}(a, k; q) \\ &= \frac{(k; q)_{2n}}{(aq; q)_{2n}} \sum_{n=0}^n \frac{(kq^{2n}; q)_r \left(\frac{k}{a}; q\right)_r}{(aq^{1+2n}; q)_r (q; q)_r} \delta_{r+n}(a, k; q). \end{aligned} \quad (1.8)$$

Thus, analogous to the Bailey transform, we have the following result.

If $\langle \alpha_n(a, k; q), \beta_n(a, k; q) \rangle$ is a WP-Bailey pair and $\langle \gamma_n(a, k; q), \delta_n(a, k; q) \rangle$ is a conjugate WP-Bailey pair relative to the parameter a , then, under suitable convergence conditions,

$$\sum_{n=0}^{\infty} \alpha_n(a, k; q) \gamma_n(a, k; q) = \sum_{n=0}^{\infty} \beta_n(a, k; q) \delta_n(a, k; q). \quad (1.9)$$

In our present investigation, we shall make use of following summation formulas:

$${}_2\Phi_1 \left[\begin{matrix} a, b; \\ c; \end{matrix} q; \frac{c}{ab} \right] = \frac{\left(\frac{c}{a}, \frac{c}{b}; q\right)_{\infty}}{\left(c, \frac{c}{ab}; q\right)_{\infty}} \quad \left(\left| \frac{c}{ab} \right| < 1 \right). \quad (1.10)$$

(see [4, Appendix II, Eq. (II. 8)])

$${}_2\Phi_1 \left[\begin{matrix} a, b; \\ cq; \end{matrix} q; \frac{c}{ab} \right] = \frac{\left(\frac{cq}{a}, \frac{cq}{b}; q \right)_\infty}{\left(cq, \frac{cq}{ab}; q \right)_\infty} \left(\frac{ab(1+c) - c(a+b)}{ab-c} \right) \quad \left(\left| \frac{c}{ab} \right| < 1 \right). \quad (1.11)$$

(see [11, Eq. (1.4)])

$${}_6\Phi_5 \left[\begin{matrix} a, q\sqrt{a}, -q\sqrt{a}, b, c, d; \\ \sqrt{a}, -\sqrt{a}, aq/b, aq/c, aq/d; \end{matrix} q; \frac{aq}{bcd} \right] = \frac{(aq, aq/bc, aq/bd, aq/cd; q)_\infty}{(aq/b, aq/c, aq/d, aq/bcd; q)_\infty}, \quad (1.12)$$

(see [4, Appendix II, Eq. (II.20)])

Finally, we recall the following series identity:

$$\sum_{n=0}^{\infty} \sum_{r=0}^n \Omega(n, r) = \sum_{n=0}^{\infty} \sum_{r=0}^{\infty} \Omega(n+r, r), \quad (1.13)$$

provided that each member exists.

(see [8, p. 100, Lemma 1, Eq. 2.1 (2)])

2. Main Results

In this section we establish following four theorems which shall be used in next section.

Theorem 1. *If $\alpha_n(a)$ is an arbitrary sequence such that*

$$\alpha_0(a) = 1$$

then,

$$\begin{aligned} & \sum_{n,r=0}^{\infty} \frac{(\rho_1, \rho_2; q)_{n+r}}{(q; q)_r (aq; q)_{n+2r}} \left(\frac{aq}{\rho_1 \rho_2} \right)^{n+r} \alpha_r(a) \\ &= \frac{\left(\frac{aq}{\rho_1}, \frac{aq}{\rho_2}; q \right)_\infty}{\left(aq, \frac{aq}{\rho_1 \rho_2}; q \right)_\infty} \sum_{n=0}^{\infty} \frac{(\rho_1, \rho_2; q)_n}{\left(\frac{aq}{\rho_1}, \frac{aq}{\rho_2}; q \right)_n} \left(\frac{aq}{\rho_1 \rho_2} \right)^n \alpha_n(a). \end{aligned} \quad (2.1)$$

Proof. Taking

$$\delta_r = (\rho_1, \rho_2; q)_r \left(\frac{aq}{\rho_1 \rho_2} \right)^r$$

in (1.5), summing the series by making use of (1.10) we get after some simplifications,

$$\gamma_n = \frac{\left(\frac{aq}{\rho_1}, \frac{aq}{\rho_2}; q\right)_\infty}{\left(aq, \frac{aq}{\rho_1\rho_2}; q\right)_\infty} \frac{\left(\frac{aq}{\rho_1}, \frac{aq}{\rho_2}; q\right)_n}{\left(aq, \frac{aq}{\rho_1\rho_2}; q\right)_n} \left(\frac{aq}{\rho_1\rho_2}\right)^n.$$

Putting these values of γ_n and δ_n in (1.6), again putting the series value of β_n from (1.4) in (1.6) and applying the lemma (1.13) we get (2.1).

Theorem 2. *If $\alpha_n(a, k)$ is an arbitrary sequence such that*

$$\alpha_0(a, k) = 1$$

then

$$\begin{aligned} & \sum_{n,r=0}^{\infty} \left(\frac{1 - kq^{2n+2r}}{1 - k} \right) \frac{(\rho_1, \rho_2; q)_{n+r} \left(\frac{k}{a}; q\right)_n (k; q)_{n+2r}}{\left(\frac{kq}{\rho_1}, \frac{kq}{\rho_2}; q\right)_{n+r} (q; q)_n (aq; q)_{n+2r}} \left(\frac{aq}{\rho_1\rho_2}\right)^{n+r} \alpha_r(a, k) \\ &= \frac{\left(kq, \frac{kq}{\rho_1\rho_2}, \frac{aq}{\rho_1}, \frac{aq}{\rho_2}; q\right)_\infty}{\left(aq, \frac{aq}{\rho_1\rho_2}, \frac{kq}{\rho_1}, \frac{kq}{\rho_2}; q\right)_\infty} \sum_{n,r=0}^{\infty} \frac{(\rho_1, \rho_2; q)_n}{\left(\frac{aq}{\rho_1}, \frac{aq}{\rho_2}; q\right)_n} \left(\frac{aq}{\rho_1\rho_2}\right)^n \alpha_n(a, k). \end{aligned} \quad (2.2)$$

Proof. Taking

$$\delta_r(a, k) = \frac{(q\sqrt{a}, -q\sqrt{a}, \rho_1, \rho_2; q)_r}{\left(\sqrt{k}, -\sqrt{k}, \frac{kq}{\rho_1}, \frac{kq}{\rho_2}; q\right)_r} \left(\frac{aq}{\rho_1\rho_2}\right)^r$$

in (1.8), summing the series by making use of (1.12) we get after some simplifications,

$$\gamma_n(a, k) = \frac{\left(kq, \frac{kq}{\rho_1\rho_2}, \frac{aq}{\rho_1}, \frac{aq}{\rho_2}; q\right)_\infty}{\left(aq, \frac{aq}{\rho_1\rho_2}, \frac{kq}{\rho_1}, \frac{kq}{\rho_2}; q\right)_\infty} \frac{(\rho_1, \rho_2; q)_n}{\left(\frac{aq}{\rho_1}, \frac{aq}{\rho_2}; q\right)_n} \left(\frac{aq}{\rho_1\rho_2}\right)^n.$$

Now, putting these values of $\gamma_n(a, k)$ and $\delta_n(a, k)$ in (1.9), again putting the series value of $\beta_n(a, k)$ from (1.7) in (1.9) and applying the lemma (1.13) we get (2.2).

Theorem 3. *If $\alpha_n(a, k)$ is an arbitrary sequence such that*

$$\alpha_0(a, k) = 1$$

then

$$\begin{aligned} & \sum_{n,r=0}^{\infty} \frac{\left(\frac{k}{a}; q\right)_n (k; q)_{n+2r}}{(q; q)_n (aq; q)_{n+2r}} \left(\frac{a^2 q}{k^2}\right)^{n+r} \alpha_r(a, k) \\ &= \frac{\left(\frac{aq}{k}, \frac{a^2 q}{k}; q\right)_{\infty}}{\left(aq, \frac{a^2 q}{k^2}; q\right)_{\infty}} \sum_{n=0}^{\infty} \frac{(kq; q)_{2n}}{\left(\frac{a^2 q}{k}; q\right)_{2n}} \left(\frac{a^2 q}{k^2}\right)^n \alpha_n(a, k). \end{aligned} \quad (2.3)$$

Proof. Taking

$$\delta_r(a, k) = \left(\frac{a^2 q}{k^2}\right)^r$$

in (1.8) and summing the series by making use of (1.10) we get,

$$\gamma_n(a, k) = \frac{(k; q)_{2n}}{\left(\frac{a^2 q}{k}; q\right)_{2n}} \left(\frac{a^2 q}{k^2}\right)^n \frac{\left(\frac{aq}{k}, \frac{a^2 q}{k}; q\right)_{\infty}}{\left(aq, \frac{a^2 q}{k^2}; q\right)_{\infty}}.$$

Putting these values of $\gamma_n(a, k)$ and $\delta_n(a, k)$ in (1.9), again putting the series value of $\beta_n(a, k)$ from (1.7) in (1.9) and applying the lemma (1.13) we get (2.3).

Theorem 4. If $\alpha_n(a, k)$ is an arbitrary sequence such that

$$\alpha_0(a, k) = 1$$

then

$$\begin{aligned} & \sum_{n,r=0}^{\infty} \frac{\left(\frac{k}{a}; q\right)_n (k; q)_{n+2r}}{(q; q)_n (aq; q)_{n+2r}} \left(\frac{a^2}{k^2}\right)^{n+r} \alpha_r(a, k) \\ &= \frac{\left(\frac{aq}{k}, \frac{a^2 q}{k}; q\right)_{\infty}}{\left(aq, \frac{a^2 q}{k^2}; q\right)_{\infty}} \left(\frac{k}{k+a}\right) \sum_{n=0}^{\infty} \frac{(k; q)_{2n}}{\left(\frac{a^2 q}{k}; q\right)_{2n}} (1 + aq^{2n}) \left(\frac{a^2}{k^2}\right)^n \alpha_n(a, k). \end{aligned} \quad (2.4)$$

Proof. Taking

$$\delta_r(a, k) = \left(\frac{a^2}{k^2}\right)^r$$

in (1.8) and summing the series by using (1.11) we find,

$$\gamma_n(a, k) = \frac{\left(\frac{aq}{k}, \frac{a^2 q}{k}; q\right)_{\infty}}{\left(aq, \frac{a^2 q}{k^2}; q\right)_{\infty}} \left(\frac{k}{k+a}\right) \frac{(k; q)_{2n} (1 + aq^{2n})}{(a^2 q/k; q)_{2n}} \left(\frac{a^2}{k^2}\right)^n.$$

Putting these values of $\gamma_n(a, k)$ and $\delta_n(a, k)$ in (1.9) and series value of $\beta_n(a, k)$ from (1.7) in (1.9) and applying the lemma (1.13) we get (2.4).

3. Special Cases

In this section we shall deduce certain interesting double series identities from theorems established in previous section.

Remark 1. If we choose $\rho_1, \rho_2 \rightarrow \infty$ in (2.1), we get

$$\sum_{n,r=0}^{\infty} \frac{q^{(n+r)^2} a^{n+r} \alpha_r(a)}{(q; q)_r (aq; q)_{n+2r}} = \frac{1}{(aq; q)_{\infty}} \sum_{n=0}^{\infty} q^{n^2} a^n \alpha_n(a). \quad (3.1)$$

Upon substituting these values of $\alpha_n = \frac{1}{(q; q)_n}$ in (3.1), we derive the following summation formula

$$\sum_{n,r=0}^{\infty} \frac{q^{(n+r)^2+r} a^{n+r}}{(q; q)_r^2 (aq; q)_{n+2r}} = \frac{1}{(aq; q)_{\infty}} \sum_{n=0}^{\infty} \frac{q^{n^2} a^n}{(q; q)_n}. \quad (3.2)$$

Taking $\alpha_n = \frac{q^n}{(q; q)_n}$ in (3.1) we have

$$\sum_{n,r=0}^{\infty} \frac{q^{(n+r)^2+r} a^{n+r}}{(q; q)_r^2 (aq; q)_{n+2r}} = \frac{1}{(aq; q)_{\infty}} \sum_{n=0}^{\infty} \frac{q^{n^2+n} a^n}{(q; q)_n}. \quad (3.3)$$

From (3.1) and (3.2) we have,

$$\begin{aligned} \frac{\sum_{n,r=0}^{\infty} \frac{q^{(n+r)^2+r} a^{n+r}}{(q; q)_r^2 (aq; q)_{n+2r}}}{\sum_{n,r=0}^{\infty} \frac{q^{(n+r)^2} a^{n+r} \alpha_r(a)}{(q; q)_r (aq; q)_{n+2r}}} &= \frac{\sum_{n=0}^{\infty} \frac{q^{n^2+n} a^n}{(q; q)_n}}{\sum_{n=0}^{\infty} \frac{q^{n^2} a^n}{(q; q)_n}} \\ &= \frac{1}{1+} \frac{aq}{1+} \frac{aq^2}{1+} \frac{aq^3}{1+} \dots \end{aligned} \quad (3.4)$$

For $a = 1$, (3.2) yields

$$\sum_{n,r=0}^{\infty} \frac{q^{(n+r)^2}}{(q; q)_r^2 (q; q)_{n+2r}} = \frac{1}{(q; q)_{\infty}} \sum_{n=0}^{\infty} \frac{q^{n^2}}{(q; q)_n} = \frac{1}{(q; q)_{\infty} (q, q^4; q^5)_{\infty}}. \quad (3.5)$$

Taking $a = 1$ in (3.3) we get,

$$\sum_{n,r=0}^{\infty} \frac{q^{(n+r)^2+r}}{(q; q)_r^2 (q; q)_{n+2r}} = \frac{1}{(q; q)_{\infty}} \sum_{n=0}^{\infty} \frac{q^{n^2+n}}{(q; q)_n} = \frac{1}{(q; q)_{\infty} (q^2, q^3; q^5)_{\infty}}. \quad (3.6)$$

Taking $a = 1$, $\alpha_n = \frac{q^{-n}}{(q; q)_n}$ in (3.1) we get,

$$\begin{aligned} \sum_{n,r=0}^{\infty} \frac{q^{(n+r)^2-r}}{(q; q)_r^2 (q; q)_{n+2r}} &= \frac{1}{(q; q)_{\infty}} \sum_{n=0}^{\infty} \frac{q^{n^2-n}}{(q; q)_n} \\ &= \frac{1}{(q; q)_{\infty}} \left\{ \frac{1}{(q, q^4; q^5)_{\infty}} + \frac{1}{(q^2, q^3; q^5)_{\infty}} \right\}. \end{aligned} \quad (3.7)$$

From (3.5), (3.6) and (3.7) we find,

$$\sum_{n,r=0}^{\infty} \frac{q^{(n+r)^2-r}}{(q; q)_r^2 (q; q)_{n+2r}} = \sum_{n,r=0}^{\infty} \frac{q^{(n+r)^2}}{(q; q)_r^2 (q; q)_{n+2r}} + \sum_{n,r=0}^{\infty} \frac{q^{(n+r)^2+r}}{(q; q)_r^2 (q; q)_{n+2r}}. \quad (3.8)$$

Taking $a = q$ in (3.2) we get,

$$\sum_{n,r=0}^{\infty} \frac{q^{(n+r)(n+r+1)}}{(q; q)_r^2 (q; q)_{n+2r+1}} = \frac{1}{(q; q)_{\infty}} \sum_{n=0}^{\infty} \frac{q^{n(n+1)}}{(q; q)_n}. \quad (3.9)$$

For $a = 1$, (3.3) yields

$$\sum_{n,r=0}^{\infty} \frac{q^{(n+r)^2+r}}{(q; q)_r^2 (q; q)_{n+2r}} = \frac{1}{(q; q)_{\infty}} \sum_{n=0}^{\infty} \frac{q^{n(n+1)}}{(q; q)_n}. \quad (3.10)$$

Comparing (3.9) and (3.10) we have,

$$\sum_{n,r=0}^{\infty} \frac{q^{(n+r)(n+r+1)}}{(q; q)_r^2 (q; q)_{n+2r+1}} = \sum_{n,r=0}^{\infty} \frac{q^{(n+r)^2+r}}{(q; q)_r^2 (q; q)_{n+2r}}. \quad (3.11)$$

Remark 2. Taking $\rho_1, \rho_2 \rightarrow \infty$ in (2.2) we obtain,

$$\begin{aligned} \sum_{n,r=0}^{\infty} \left(\frac{1 - kq^{2n+2r}}{1 - k} \right) \frac{q^{(n+r)^2} \left(\frac{k}{a}; q \right)_n (k; q)_{n+2r} a^{n+r}}{(q; q)_n (aq; q)_{n+2r}} \alpha_r(a, k) \\ = \frac{(kq; q)_{\infty}}{(aq; q)_{\infty}} \sum_{n=0}^{\infty} q^{n^2} a^n \alpha_n(a, k). \end{aligned} \quad (3.12)$$

Taking $\alpha_n(a, k) = \frac{1}{(q; q)_n}$ in (3.12) we have

$$\begin{aligned} \sum_{n,r=0}^{\infty} \left(\frac{1 - kq^{2n+2r}}{1 - k} \right) \frac{q^{(n+r)^2} \left(\frac{k}{a}; q \right)_n (k; q)_{n+2r} a^{n+r}}{(q; q)_n (q; q)_r (aq; q)_{n+2r}} \\ = \frac{(kq; q)_{\infty}}{(aq; q)_{\infty}} \sum_{n=0}^{\infty} \frac{q^{n^2} a^n}{(q; q)_n}. \end{aligned} \quad (3.13)$$

Again, taking $\alpha_n(a, k) = \frac{q^n}{(q; q)_n}$ in (3.12) we have

$$\begin{aligned} & \sum_{n,r=0}^{\infty} \left(\frac{1 - kq^{2n+2r}}{1 - k} \right) \frac{q^{(n+r)^2+r} \left(\frac{k}{a}; q\right)_n (k; q)_{n+2r} a^{n+r}}{(q; q)_n (q; q)_r (aq; q)_{n+2r}} \\ &= \frac{(kq; q)_{\infty}}{(aq; q)_{\infty}} \sum_{n=0}^{\infty} \frac{q^{n^2+n} a^n}{(q; q)_n}. \end{aligned} \quad (3.14)$$

From (3.13) and (3.14) we have,

$$\begin{aligned} & \frac{\sum_{n,r=0}^{\infty} \left(\frac{1 - kq^{2n+2r}}{1 - k} \right) \frac{q^{(n+r)^2+r} \left(\frac{k}{a}; q\right)_n (k; q)_{n+2r} a^{n+r}}{(q; q)_n (q; q)_r (aq; q)_{n+2r}}}{\sum_{n,r=0}^{\infty} \left(\frac{1 - kq^{2n+2r}}{1 - k} \right) \frac{q^{(n+r)^2} \left(\frac{k}{a}; q\right)_n (k; q)_{n+2r} a^{n+r}}{(q; q)_n (q; q)_r (aq; q)_{n+2r}}} \\ &= \frac{\sum_{n=0}^{\infty} \frac{q^{n^2+n} a^n}{(q; q)_n}}{\sum_{n=0}^{\infty} \frac{q^{n^2} a^n}{(q; q)_n}} = \frac{1}{1+1+1+1+\dots} \frac{aq}{1+1+1+1+\dots} \frac{aq^2}{1+1+1+1+\dots} \frac{aq^3}{1+1+1+1+\dots}. \end{aligned} \quad (3.15)$$

For $a = 1$, (3.13) yields

$$\begin{aligned} & \sum_{n,r=0}^{\infty} \left(\frac{1 - kq^{2n+2r}}{1 - k} \right) \frac{q^{(n+r)^2} (k; q)_n (k; q)_{n+2r}}{(q; q)_n (q; q)_r (q; q)_{n+2r}} \\ &= \frac{(kq; q)_{\infty}}{(q; q)_{\infty}} \sum_{n=0}^{\infty} \frac{q^{n^2}}{(q; q)_n} = \frac{(kq; q)_{\infty}}{(q; q)_{\infty}} \frac{1}{(q, q^4; q^5)_{\infty}}. \end{aligned} \quad (3.16)$$

For $a = 1$, (3.14) gives

$$\begin{aligned} & \sum_{n,r=0}^{\infty} \left(\frac{1 - kq^{2n+2r}}{1 - k} \right) \frac{q^{(n+r)^2+r} (k; q)_n (k; q)_{n+2r}}{(q; q)_n (q; q)_r (q; q)_{n+2r}} \\ &= \frac{(kq; q)_{\infty}}{(q; q)_{\infty}} \sum_{n=0}^{\infty} \frac{q^{n^2+n}}{(q; q)_n} = \frac{(kq; q)_{\infty}}{(q; q)_{\infty}} \frac{1}{(q^2, q^3; q^5)_{\infty}}. \end{aligned} \quad (3.17)$$

For $k = q$, (3.16) yields

$$\sum_{n,r=0}^{\infty} (1 - q^{2n+2r+1}) \frac{q^{(n+r)^2}}{(q; q)_r} = \sum_{n=0}^{\infty} \frac{q^{n^2}}{(q; q)_n} = \frac{1}{(q, q^4; q^5)_{\infty}}. \quad (3.18)$$

For $k = q$, (3.17) yields

$$\sum_{n,r=0}^{\infty} (1 - q^{2n+2r+1}) \frac{q^{(n+r)^2+r}}{(q; q)_r} = \sum_{n=0}^{\infty} \frac{q^{n^2+n}}{(q; q)_n} = \frac{1}{(q^2, q^3; q^5)_{\infty}}. \quad (3.19)$$

From (3.18) and (3.19) we have

$$\begin{aligned} \frac{\sum_{n,r=0}^{\infty} (1 - q^{2n+2r+1}) \frac{q^{(n+r)^2+r}}{(q; q)_r}}{\sum_{n,r=0}^{\infty} (1 - q^{2n+2r+1}) \frac{q^{(n+r)^2}}{(q; q)_r}} &= \frac{\sum_{n=0}^{\infty} \frac{q^{n^2+n}}{(q; q)_n}}{\sum_{n=0}^{\infty} \frac{q^{n^2}}{(q; q)_n}} \\ &= \frac{(q, q^4; q^5)_{\infty}}{(q^2, q^3; q^5)_{\infty}} = \frac{1}{1+} \frac{q}{1+} \frac{q^2}{1+} \frac{q^3}{1+} \dots \end{aligned} \quad (3.20)$$

Remark 3. Upon setting

$$\alpha_n(a, k) = \frac{(a^2q/k; q)_{2n}(z; q)_n}{(k; q)_{2n}(q; q)_n}$$

in (2.3), we get

$$\begin{aligned} \sum_{n,r=0}^{\infty} \frac{\left(\frac{k}{a}; q\right)_n (k; q)_{n+2r} \left(\frac{a^2q}{k}; q\right)_{2r} (z; q)_r}{(q; q)_n (aq; q)_{n+2r} (k; q)_{2r} (q; q)_r} \left(\frac{a^2q}{k^2}\right)^{n+r} \\ = \frac{\left(\frac{aq}{k}, \frac{a^2q}{k}; q\right)_{\infty}}{\left(aq, \frac{a^2q}{k^2}; q\right)_{\infty}} \sum_{n=0}^{\infty} \frac{(z; q)_n}{(q; q)_n} \left(\frac{a^2q}{k^2}\right)^n \\ = \frac{\left(\frac{aq}{k}, \frac{a^2q}{k}; q\right)_{\infty} \left(\frac{a^2zq}{k^2}; q\right)_{\infty}}{\left(aq, \frac{a^2q}{k^2}; q\right)_{\infty} \left(\frac{a^2q}{k^2}; q\right)_{\infty}}. \end{aligned} \quad (3.21)$$

As $k \rightarrow \infty$, (2.3) yields

$$\begin{aligned} \sum_{n,r=0}^{\infty} \frac{q^{n^2+2r^2+2nr} a^{2r} a^n \alpha_r(a, k)}{(q; q)_n (aq; q)_{n+2r}} \\ = \frac{1}{(aq; q)_{\infty}} \sum_{n=0}^{\infty} q^{2n^2} a^{2n} \alpha_n(a, k). \end{aligned} \quad (3.22)$$

Choosing

$$\alpha_n(a, k) = \frac{1}{(q^2, a^2q^2; q^2)_n}$$

in (3.22) we get

$$\begin{aligned} & \sum_{n,r=0}^{\infty} \frac{q^{n^2+2r(r+n)} a^{n+2r}}{(q; q)_n (aq; q)_{n+2r} (q^2; q^2)_n (a^2q^2; q^2)_n} \\ &= \frac{1}{(aq; q)_{\infty}} \sum_{n=0}^{\infty} \frac{a^{2n} q^{2n^2}}{(q^2; q^2)_n (a^2q^2; q^2)_n} \\ &= \frac{1}{(aq; q)_{\infty} (a^2q^2; q^2)_{\infty}}. \end{aligned} \quad (3.23)$$

Remark 4. By letting

$$\alpha_n = \frac{(a^2q/k; q)_{2n} (z; q)_n}{(k; q)_{2n} (q; q)_n}$$

in (2.4), we deduce that

$$\begin{aligned} & \sum_{n,r=0}^{\infty} \frac{(k/a; q)_n (k; q)_{n+2r} (a^2q/k; q)_{2r} (z; q)_r}{(q; q)_n (aq; q)_{n+2r} (k; q)_{2r} (q; q)_r} \left(\frac{a^2}{k^2}\right)^{n+r} \\ &= \left(\frac{aq}{k}, \frac{a^2q}{k}; q\right)_{\infty} \frac{k}{k+a} \left\{ \frac{(a^2z/k^2; q)_{\infty}}{(a^2/q^2; q)_{\infty}} + a \frac{(a^2zq^2/k^2; q)_{\infty}}{(a^2q^2/k^2; q)_{\infty}} \right\} \end{aligned} \quad (3.24)$$

As $k \rightarrow \infty$, (2.4) yields

$$\begin{aligned} & \sum_{n,r=0}^{\infty} \frac{q^{n(n-1)/2} q^{(n+2r)(n+2r-1)/2} a^{n+2r}}{(q; q)_n (aq; q)_{n+2r}} \alpha_r(a, k) \\ &= \frac{1}{(aq; q)_{\infty}} \sum_{n=0}^{\infty} q^{n(2n-1)} a^{2n} (1 + aq^{2n}) \alpha_n(a, k) \\ &= \frac{1}{(aq; q)_{\infty}} \left\{ \sum_{n=0}^{\infty} q^{2n^2-n} a^{2n} \alpha_n(a, k) + a \sum_{n=0}^{\infty} q^{2n^2+n} a^{2n} \alpha_n(a, k) \right\}. \end{aligned} \quad (3.25)$$

Now choosing

$$\alpha_n(a, k) = \frac{q^n}{(q^2; q^2)_n (a^2q^2; q^2)_n}$$

in (3.25) we find,

$$\begin{aligned} (aq; q)_\infty \sum_{n,r=0}^{\infty} \frac{q^{n^2-n+2r^2+2nr} a^{n+2r}}{(q; q)_n (aq; q)_{n+2r} (q^2; q^2)_r (a^2 q^2; q^2)_r} \\ = \frac{1}{(a^2 q^2; q^2)_\infty} + \sum_{n=0}^{\infty} \frac{q^{2n^2+2n} a^{2n+1}}{(q^2; q^2)_n (a^2 q^2; q^2)_n}. \end{aligned} \quad (3.26)$$

5. Concluding Remarks and Observations

In our present investigation, which is motivated essentially by the earlier works of Andrews [2], Srivastava *et al.* ([9] and [10]) and Singh *et al.* [5], we have successfully applied the widely-studied Bailey transform, the Bailey pair of sequences and the well-poised (or WP-) Bailey pair of sequences in order to derive many useful summation formulas for q -hypergeometric series as well as bi-basic hypergeometric series. We have also presented several other related q -series identities. Our results are stated here as Theorems 1, 2, 3 and 4 and Remarks 1 to 4.

References

- [1] Ratan P. Agarwal, Resonance of Ramanujan's Mathematics, Vol. II, New Age International Private Limited, New Delhi, 1996.
- [2] G. E. Andrews, Bailey's transform, lemma, chains and tree, in Special Functions 2000: Current Perspective and Future Directions, (Proceedings of the NATO Advanced Study Institute; Tempe, Arizona, May 29-June 9, 2000), NATO Sci. Ser. II Math. Phys. Chem., Vol. 30, Kluwer Academic Publishers, Dordrecht, Boston and London, 2001, pp. 1-22.
- [3] W. N. Bailey, Identities of the Rogers-Ramanujan type, Proc. London Math Soc. (Ser. 2), 50 (1949), 1-10.
- [4] G. Gasper and M. Rahman, Basic Hypergeometric Series (with a Foreword by Richard Askey), Encyclopedia of Mathematics and Its Applications, Vol., 35, Cambridge University Press, Cambridge, New York, Port Chester, Melbourne and Sydney, 1990; Second edition, Encyclopedia of Mathematics and Its Applications, Vol., 96, Cambridge University Press, Cambridge, London and New York, 2004.
- [5] S. N. Singh, Sunil Singh and Priyanka Singh, On WP-Bailey pair and transformation formulae for q -hypergeometric series, South East Asian J. Math. Math. Sci., 11 (1) (2015), 39-46.

- [6] L. J. Slater, *Generalized Hypergeometric Functions*, Cambridge University Press, Cambridge, London and New York, 1966.
- [7] H. M. Srivastava and P. W. Karlsson, *Multiple Gaussian Hypergeometric Series*, Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, Chichester, Brisbane and Toronto, 1985.
- [8] H. M. Srivastava and H. L. Manocha, *A Treatise on Generating Functions*, Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, Chichester, Brisbane and Toronto, 1984.
- [9] H. M. Srivastava, S. N. Singh, S. P. Singh and V. Yadav, Some conjugate WP-Bailey pairs and transformation formulas for q -series, *Creat. Math. Inform.*, 24 (2015), 201-211.
- [10] H. M. Srivastava, S. N. Singh, S. P. Singh and V. Yadav, Certain Derived WP-Bailey Pairs and Transformation Formulas for q -Hypergeometric Series, *Filomat*, 31 (14) (2017) (in press).
- [11] A. Verma, On identities of Rogers-Ramanujan type, *Indian J. Pure Appl. Math.*, 11 (1980), 770-790.
- [12] A. Verma and V. K. Jain, Certain summation formulas for q -series, *J. Indian Math. Soc. (New Ser.)*, 47(1983), 71-85.